2024 tR=+HPE= (L) FFFE
2024.9
AREIL AT, 1505 . FHRRNK 120 08h. BEEZUDBEREEST R L, £lE MEST
M. BREFE, WARBNEEE—HXH.
F—Ha GEFEE 3L 405
—. EFEEIL 10 MNE, BPDE 4457, 340 5. EE/NMNEFIHBOANMERF, EHFEEE
BRI —I,

LB A={-101}, B={xx"-x<2}. WEHANB= C )

A. {01} B. {-10} c. {-1,01 D. {-11}

2. Wz=-2+3i, WEEVHNZ XM ST ¢ D
A BB, R C. B=FRD. HIILHE

3. fE(1-2x) RIS, xRNy ()

A. 2 B. 6 C.2 D.6

4. FIIXERIMA AN O B 49%, 4 B 19%, BB 25%, AB R 7%. C 1AM MA (0 N o] DL E AR5
i, O Y g N AT CALEAT AT — B fn L i N, AB i iy A nT DAEE 32 AT A0 — b i BY i, HoAth A ) i 784 1
AAREE ARSI ML I — M8 A4 B0 N B, 5 7E iz X EE— A, WEE 2 N i e
C

A. 19% B. 26% C. 68% D. 75%

5. FHIEHH, (EXI(0,+00) EAMIBREZ D
, . 1
A. y=—|x B. y=x"-2x C. y=x-sinXx D. y=X+—
X

6. BHf(X)REXAER LHTEE, Ax>08, f(x)=log,x, W f(-4)= C >
g2 c 1o 2

1
7. tma=2log;2, b=log,2, c=23%, MWa, b, cHIKNKFRLZ C )

4

A. a>b>c B. c>b>aC. c>a>bD. a>c>b
8. Eﬂa>0ﬁa¢l,mU“a>%Ea¢1”£%“m%2>—l”%( )

A. AL EFAN B. WEATE KA
C. FE BRIt D. BEAZED AL E K



0. K f (x)=InT X, W
1-x
.

~1,0) BRSNS, gy = f (X) FEEERTRRN

(x)7E( )

B. f(x)7E(-11) b, Huhizky = f(x)ZAERFreh
(x)#(-11) )
(x)E( )

(
11) ERHEA, Hgky = f(X) fEterFn
~11) R Ry = f(X) EER R

log,x, x>0

, SZH oa. b, mWiEas<m<b. HEMEEN m, BHEAER
2x+1, x<0

10. TR f(x):{

f(m)+m<3mar, Mb-amilkiEd ¢

8 10
A.—B.EC.4 D. 6

3
HoE GREEE ko)

. HEEIE S MNE, BPMES 5, 2557

B F (X)=In(2+x)+V1-e* fr5E Ul
12. CHE¥ f (x)=2log, x—log, (x—1), Ml f (x) & Lk o F(X) MM
13. 55 24 [ A R WSHEHREIT 4. NLRIT B, 183h i FEE—REEHLHEHE 8T &, WRE—
Kz ARIT, WLAE_RE A BITIMERN 0.6: WRE—KRE BET, BaFE_RE 4 BITHBEN
0.8. BARAHE - RE ABRTHENME N
14. CAEKs {a, b a, >0, a,+a,=5, a;a;=1, MAHQq= . aa,---a IEMEN

pay = (k< +1)e* R ATAE R

OI x ()l r 0 x

V) @ ® @
=\ REFIL 6 /NE, L8545 . BENEHXFUH, HEPENMIEHITE.
X X% +2X+2
& g(x) —e—+ax

(1 f'(x)= . g'(x)= ;
(2> f(x)rtkME s A s MOMEAN_

16. (144) TR f (x)=

X



(3 f(X) MRS, WKl
(4) B (%) P R B

Y

-II 9] l 2 J T

(5) #HHE f(X)=mIaiFa 2 M, W9im=

(6) # g(X)7E R LRy, NISLH a MHUEIEE R

(7) B G (X) FEERA, TIARAE AT BT ey A (CEHBTE g
17. (134

Bl 5 R B AR I BR O IR .y CRALAL: SRECRE) BRI x CHFIE): 20h) A28 th A 2 o5 Rl

y=m-2"+2"7(0<x<4,m>0).

(1) #FHm=2, RETZ D05, ZYIRAVEERN 5 B

CID Bz B e S AT 2 IR EE, 3K m B BUETE .

18. (134

NT RS YR BRGNP~ (8) PEREAT T, SREU T U7 3
FE: SHERENLS I 10 BT SRR, G400, Y 10 &4 P SR R IR sk B 75 1)
NEEGT IS G iRt BEES,  y 3ot M7 AH0:

10

Ol 12345678z

1D A FHUS EITN s — fE  AE SAR R BURE OL, Am — R e S 1 A, ik hiz SRR
J5 M 0 ke £ BN 75 R

(1D #FME— (2> FEHIUE 10 A BERLEE 2 N, Msi— (4) BERIE) 10 AHBElamE 1 A, #& X
FoRIX 3 NP EARR B W SA B TS AN, R X = 2 SR,

(D AR BB BEEAE SRR B TS IO SRR B 1) 107 252 AR SRR P RS, BEN
TP RIBEHLARE 1 2 R%, ) “ & =17 KR L MBI A RS SRR, “ & =07 RRE

ke P BN IX 4 A2 A R RA R (k=1,2,---,8) . 5% DS, DE,, D&, D&, MK KHR



(A HHES .

19. (1549

CoaEH f (x)=x—alnx-1(aeR).

(1) %k y = f(X) 64 (1,0) LbHTIL S x B, R a H1H;
(1D # i (X)X (1, 400 ) P fRIRR AR 25 A 5L

(ID #a=2, KiE: f(X)FEEFNELX, X (X <X,), HHExX, <4.
20. (1549

DR f (x) =a%x+2avx —2Inx(a=0).

(1) Ha=1m, RKily = f(x) (L f (1)) i
(1D Ha>0r, KRB (X)L R

(ID Ma<O0m, #HEEF(X) LT, K a WIUETEH.

21. (1549

B 0 HOTETS A {a, ) RN A R A 0

®la,,—a,|=n: @a, gnT_l.

C1) HEESH a, WA AT Refd:
(1) igh, =a,,, #b, <b  SHEEne N L, K{b,}HHEHAR;

(D X T2 E IRk, Ka +a, +...+a, FHRKME.



